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Instructions for the candidates :

Candidate must enter his / her
Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their
answers tn thewr own words as far
as practicable.

Figures in the right hand margin.
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefuily.

This question booklet is divided into

two sections — Section-A and
Section-B.
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[117]

In Section-A, there are
70 objective type questions, oul of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liguid
/ blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type gquestions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohubited.
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(117 ]

®UE - A/ SECTION-A

TS W / Objective Type Questions

vy W& 18 maarérna?ﬁm%—mwﬁmﬁth frni & vw @t 21

av#gmg#waﬁﬁwv#ou;ﬁzwﬁ@mﬁr ﬁs‘#asmﬁwm%f
35 x1=35
h only one is correct. You have o

Question Nos. 1 to 70 have four options, out of whic

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. nﬂﬁaﬁmqﬁqﬂlﬁmwwﬁﬁﬁaﬁﬁﬁm%

(A) P,=E s cos ¢ (B) P, =15c08 ¢
(€ Pav = E s Trms sin¢ (D) P‘w = E_ . I, ms €OS )

The expression for rcal average power in an alternating current circuit is

(A) P ,=E_, cos¢ (B) Pw= s cos ¢
(€ Pov = Erpms Trms B0 (D) P.,=Ems Imscos ¢
2. ¥ 7Ol & RO ¢

R ] : zZ
w2 ® £
Q) R.Z2 (D) W.L
Power factor is equal to

R
Wz ® £
€ Rz D) w.L

B |~ 13003-s9/60) Page 3 of 32
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]

h

(1 R) ORaw H FeR @ R

(A} sin™! [‘“—;] (B)
(C) tan”! [%] (D)
Phase difference in ( L-R) circyit is
in [ el
(A) sSin ( RJ (B)
-1 QIL D

(C) tan [ R ] (D)
ZigEnt ¥ qRoma S 8l ¢

V.

== (B)
(A)

v, ,

| $

R N (D)

Ve Vp O

O
B

Transformatio @)&t\o in transformer is

V.
A = B)

VP
Ca— (D)

bV -

R.C. ¥ faim g7 ¥ &
4 MYrfT iB)
C, I I"J L’.- Tr'J {P}

MPLO0r-2

MO

[117 ]
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[ 117 ]
IDimensional lormula ol R.C 18

ay mYPr! _ By MOL9T?
)  MYO7Y m MYPr
YA TEE F S.). G Bl ®

A} Am™ (B) Am™2

{C) Am (D) Fm

S.I. unit of pole strength is

(A} Am=! {B) 2

Am

(C} Am (D) Fm

THEAH IEFE 83 H 9EE & Ay A fFr s e

(A) W=MB(1-sin8) Q (B) W =MBsin%
K\Q
(C) W=MB[1—G@ (D) W=ABcosb
X
N
Work done in@% deflection of a magnet in a uniform magnetic field 1s
1A} W=MB(l-sinB} (B) W=ABsin6
iC) VW=2A2(1-cost) (D) W=MBcosU
BRI O TR O emE d T s ST T R )
Ay m=E 8] m?=E
‘C)  me?=E T} m =:/2£.
i 3 ]~ 12003-s9r501 | Prgz 347232
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10.

11.

(117

Which of the following relations is correct for mass and energy ?

(A) m= [

)

(C) mc* =E

(B)

(D)

<vIfies dE (8),, T fRamurt e e &

(A)  (1000),

(© (111),

Binary number of decimal number (8),, is

(&) (1000),
©  (111),

NAND 712 &1 Thd & &

w = - (§§\\§

© >

Symbol of NANSantc is
a -
© >

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

m® =E

JE
2

m=

(1001),

(110 ),

(1001),

(110 ),

SAARTA

qE-AY FA T, vel &7 Fradis W g F6 8

1(_") 'T]”:e:O'ﬁgB;‘.

(8)

(D)

T2

o
Ty2757693

=0- 69337

s

[B]-
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| 117 ]

The relation between hali-life time 7‘”2 and decay constant is

: .-
(A) T ,,,=0-693/2 B T1/257693
(C) TU2=0-6931 ' (D) 1"1‘,,2=l!3-693?&2

12. frefefee § 1 o -0 = fow @@ ¢ 2
B (B)  Forge- e fafemor
) @iy Aifas (D) ®ESNA AHH
Which of the following is correct for « - particle . ?
(A) electron . (B) electromagnetic radiation
(C) helium nucleus K\Q@ (D) hydrogen nucleus
5@
13, Pt 3w o @@ &
@$ |
(A) 338U+§34U+ JHe B)  53°U— 33*Th+ 3He
238
€)  55°U=357Th+ JHe D) 53°U—>28*Th+ 2He
Which of the following equations is correct ?
238 234
(A) 537U 23%U+ SHe B)  33°U—>32%Th+ 2He
©  BPU2Th+ iHe D) 238U 2%2Thy SHe
B ]— 3003-[59]6(}1' Page 7 of 32
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| 117 ]
FeTetEd ° wiA srE-aee fon # afke afie W@ ®E Y

14,
-3 A —~p
- Mg I(dlxr = Hog I{d!
(A) dB=~%—-—-—;—-—-l B dB=.2 (d’ }
re LS
- A A
. 2> Hg I[{dlxr) - Mo 17
C dB = — ——— = —2. —
(C) . 3 (D) dB an 2
Which of the following is the correct vector form of the cquation of Biot-Savart
law ? hittps://www.bsebstudy.com
- dl x r) L
- P I{alxr) 2 Bp ljdl)
(A)  dB =22 > (B) dB= 2 s
1Al x r > ;
1B = to Hdlxr) LKMo 7
(C) dB = an 3 (D} dB = an 2
15. THE! g W Taey-as ®) diad d @
A E=F B E=F
(A) q Q@ (B) /q
S
! >
() E=+Fqg N (D) E=q/F
2 Q\Q
[ntensity of e]ec@ﬁcld at a'point is
(A) E=Fq (B) E=F/q
(C) E:%Fq (D) E=q/F
16, AEY F JS-99 81 €
_Q _9
(A) o=— (B) o=
(C) g = % (D) o=0-A
| B |- [ 3003-(s9/60 Page 8 of 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

{117}
Surface density of charge is
Q Q
A = =
(A o= B) a=
© o=% D) =04
17.  TiElE guifer s il et &
[ rR ) rr
A C=4 ! _
[. ) TE, =) (B) C 4R50(r+}?]
2 W 2
_ rer . rRk
('C) C“4neo&r—RJ (D) C—4nED{F_R]
Capacity of spherical condenser is
rR rR
A = N
(A) C 4“60(3'-—}?) (B) C—4neo(r+R]
(C}y C=4re R ’ D 7R
= 0 r_ R ® ( } C=4:I'IED R
K\Q
18. 1 p, % RE A& O
©
@Q
H
w 2 O B L
Ky Ko
(o RTART O
Hy By
1 uy 1s equal to
. n
- m A
Hy By
©  uym O -
. Bykg
3003-(s9/50) Page 9 of 32
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20.

21.

[117]
e W T aen Wiataw gan &
(A) ATt TE dh By ATl e Ier
(C) Fedt Td dhar (D) TA® Td I
Image formed on retina is
(A) real and erect (B) real and inverted
(C) virtual and erect (D) virtual and inverted
T A $T HEEA 9T 8 &
Jo Jo
A) =2 B). -2
(A) 7. (B) T,
(C) - i‘-’? (D) ie-
. f, N Jo
O
The magnification po@of Astronomical Telescope is
o
Q
v b S B -2
{ l fe % fe
~ fl’.’ .£E_'_
©  -F o F
(qeafeatraa 6 1 S % @ & SR A R 2
() I (3 A
()  @mi-faemm (D) STE
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22.

23.

24,

Which of the lollowing is the cause of formation of rainbow ?

(A) Scattering (B) Diffraction
(C}  Dispersion | (D)  Reflraction
Fereferfiae & it feregar- gt o T & 7

(A) T (B) X-Fo

(¢ @A (D)  EReE faoi

Which of the following is not electromagnetic wave ?

(A) Light waves (B) X-rays
{C) Sound wavces (D) Infrared rays
(A} 48-75 Q (B) 41-14°
K\Q
, D :
(C)  37.31 \Q,g (D) 24-41
Critical angle fc@SnS])arcnt medium diamond is
(A) 4875 B) 41.14°
(C). 37-31° (D) 24.a1°
W ® =
. | »
© Jhv ' | o SR
' . . v,

117 |
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[ 117

Encrgy of photon is equal to

' h

(A} hv ®
_ h
© Jhv (DJ 1} 2

25, A g A el (4 ) % S A 8

B Ho
A et B zo
(A} ™ (B) B,

(C) Bk _ (D} 1’ B,

Intensity of a magnetising field ( H) is equal to

B3 ' T
LR B ==

Ho 0
(C) [Z7NTIN (D) J By,

-

26, hﬁmaﬁmm@@m%maﬁ%?
N

N
Ay v <V, Q§» B) V>V,
&
© v,-= v}@ @ V<V,

Which of the following is correct for step-up transformer 7

AV, <V, B V>V,

© v,=v, D) V<<V,

oy, fave unn o fen udoen afma el &
A UA By 3

]
{C’) inf. (D) =

b o e e e T "_mf'{’_:aU(J:i—;swfgl_J

PSR —

R s s o - = e r—
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Il [ 117 }

Inductive reactance for direct current is

(A)  zero (B) infinity
C L 1
( } @ {Dl wl
28. YRR $IeN F1 FARgH-qrerpE ot g
o -

A MNA (B) ”—f

N 1A
€ — (D) —

1A N

Eleciromagnetic moment of current carrying coil is

- -5
A)  NIA (B) i”—)-,f‘-
. \\@ -
o XL D o 4
- 5 N
ITA \Q‘b'
QQ
§ \
29, o diaen 1 S "9 €
(A} NC B N/C
To N X _ D) wN/C?
The S.1. unit of electric intensity is
() NC (B N/C
) N D)  N/C?
T ”tr-— ISOUS-{swmj- ' T i’:uge 13 of 32
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30

31

32.

- e e e

(117
Frferfgs dunors & o SR T E
(A J=1-A (B) J:-J%
Which of the following is correct for current density ?
Ay J=1-A (B) J=_:.'i_
) -““'?- D) J=I?A
Fafefas & nfasiear & fg S @@ & 2
v
W w=g 7
$
(€) n=V, E g\@ (D) n=E%v,
S
Which of the fo ng is correct for mobility ?
v
)
wF -—i [B I -

(Aj b 3 ) H Vd

2
fyeifefrga § % w6 R 2

i
{A) | watt » 1 Js B) ] watt = | Ve
.
€ 1watye1aV (D) ! watt= 1 Fn
S | P.J --—I:S{JO:HnugL | S Fape 1 of 32
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33.

34,

35.

{117 ]
Which of the following is correct ?
(Ay  1watt=1Js"] (B) 1watt=1 Vs~
(€} 1watt=1sV" (D} 1watt=1 Fs™!

el T % AU FET 90T F FA HES A &

(A) 3 (B) 4

€y 5 LE,}] 6

Colour code of carbon resistance for blue colour is

(A) 3 B 4

€) 95 (D} 6

ufira-g21 mre g &

Ay e H & (B AW F
g\

© F@m P o) faarm

N

Ampere-hour i@&hc unit of

(A} power (B}  charge

[t;} CRergy

| (D) potential difference
Pt 7 siitga a= % fan e ot & 2

“h > k- - -
(A) Feagf{lzeVx 1) ' (B} E:Q(E+E;]

S S . S
{C) Fa{EtVxRY) (D) F=qE+Bx V)

L ey o

o o i 87 R

{ I3 {—- 30037159fs§1
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37.

[ 117 ]
Which of the following is correct for Lorentz force ?
- > > = - > -
(A} F=g(E+Vx B (B) F=q(E+V)
—» -+ - = - - - -
(C} F=(E+VxB) (D) F=q(E+BxV)
4 TEIE AN AR T S B gl B &
(A} 0-25 m (B} 025cm
(C) 0-35m (D) 0-35¢m
The focal length of a lens of capacity 4 dioptre is
(A) 0-25m (B) 025cm
(C; 035m (D)~ 0-35cm
ﬁmﬁaﬁaﬁmaﬁ-ﬁﬁgm&;maﬁt ?
A
T (&\@ B TRy
s = -t r Wws——m—
$
By~ 1 Hy -1
= fDl w =

‘< " My, Ty My —Hy
Which of the following is correct for diapersive power ?
A wetelle B wetrte

i, =1 p, =1

Y )

“ ot I " - l
(C) W %~ (N 10 et

Ky 1, noon,

T [B]-[3003 e T

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

38.

39.

[117)
W@ F AW (=) A d e g, @R (u=d) A

~

f, &

A f,=1f B f,=2/,

€ Ju=34 @y Jf,=4,

3. . 4 .

If the focal length of a glass lens (“=§') in air is f,and in water [ng) is
f,, then

(A) fw=fa ' (B) fw = 2fa

< f,=31 (D) “Fu=141

fere 1 & 7 &
N
& 1
€ I= )lS D) I« 1’4_

Which of the following relations is correct for intensity of scattered light ( /) and
wavelength of ight ( 2} ?

W T B) J«-L
: 3

ST I'_lj__] - 300315.9””
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n | [117]
40. Frfafad & #F WRE W @ & o ad § 2

(A) e=1.602 x 10716C (B) e=1-602x10"'C

(€) e=1602x 10718¢ (D) e=1.602x107'%C

Which of the following is correct for charge on an electron ?

(A) e=1-602x10"16C . (B) e=1-602x10"17C

(€) e=1-602x10718¢C (D) e=1-602x10719C
41. Wﬁﬁﬁmmm-wmt ?

(A)  65=2-55 eV (B)  ¢5=2:65eV

(C)  $=2-75 eV (D} 4,=2-85 eV

Which of the fol.lo-lwi.ng is the work-furnction of sodium ?

(A} 9,=2-55 eV (B}  #g=2:65 eV

©  4=2-75 ¢V (D) $,=2-85eV
42, ATH O gZET A o 7

(A) A+Z (E}} A-Z

[(rlj Z+-‘% D) 2z

Number of neutrons in nucleus is

(A) A+Z B) A-Z

(C) _2.'-|-—‘2‘l (D) Z> |

{ B |- |3003-s5/60) . -Pagc 18 of 32
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43.

44,

45.

(117 ]
et 1 87 o & o @F @A 2

(A (Blasiy = (Blfgzaier (Bl (Blsnirg = 2(B)fesira
(C)  (Bifgradry = 2(B) ity (D) (Blamim = 3Bz

Which of the following is correct for short magnet ?

{A] (B)axr'a! = (B) equatarial (B] (Bjaxfaf = 2(5) f.-'quamriuf

(€} [B}equalnnnf = 2(B axial (D] (B]wﬂﬂf = 3(B] equalorial

(AT TS 87 T e i o SEdET H1 A ] #

‘ ’ [ - {
A 1T=2n | — (B) T=2n

(C) T=2n

—L (D) T=2n/MB,;

Expression for the time-pericd of a magnet oscillating in a uniform magnetic

field is SK\Q
IS ;
A T=2rn | — O (B) T=2
A " BfQQ\ " MB;
D
MB,;
(C) T=2n —5 (D) T=2n }MBH

Ffeiias & SI7 =Y Y=l & g6 847 (B,,) IR gEEE gE F 3G (a)
% fog @@l & ?
(A) n*« B, B neoB

(C) n o« 3”2 - (D} 21

Page 19 o1 32
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46

47.

(117

Which of the following relations is correct for carth's magnetic field (B,} and

frequency of magnetic needle { n ) ?

A}l n’x B, (B)

{Ct n « BH‘ (D)

Ferffgn & o &% fam & o e 2 0

(Al B=B,, tan6 (B)
(€ B= JB” tan® (D)

rlutBH

n?

1
O e
By

B= BHQ tant

BzBH 1an2£*

Which of the following is correct for tangent law ?

(A}  B=B tané (B)
¢} B=/B,, tand (D)
S
N\
mmw&
\Q‘G
N
I ®)
(i y,=u'uaa‘ (D)

Relative permeability is equal to
H
{A) I,F=#r (B)

(C} p‘r =p- uﬂ [Dl

B:—B”f tant

_ 2
B-BHtan a

B [—-13003-s9/¢00
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[ $17 ]
PP s GRS PV
2 _p2 -
(A} B*=B; B B Blen -8
\ 2_p2 _pl B
(1) B® = B{ - By, {D) B« L
y Ay
Which of the following relations is correct ?
W B=8] .8 B B8] -8]
_ B,
. 2 _p2 5l 4
(€} B =B, -8 D) B = B,
49. faAfetfga % #7 Fam 4 fagr- gt @i # o= & fFoowe b o
A c=Jrg €, (B) (G e
J By &g
4
Ho €o
C c= | — D c= | ——
(C) < Q'Q\ (D} “ ho
g\\
Which of the followii@ﬁ’ correct for speed of electromagnetic wave in vacuum ?
N 1
&) e=Jho €5 (B) ¢=T=-==
Ho €5
E
€ c= ’ED. R
EO . ‘ iz:}
. - :
50. GwEl % g W B F U 1 €
(A) 107! ZWew (B) 107 ZWew
107 T@ D) 1075 ZEem
' LB 1~ {3003-199/60 Page 21 of 32
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52

o _’ N
The value of B on the surface of the earth is

(A} 107} tesla

(B)

(C) 10 tesla (D)

MRSl F3ett 1 forega-gramta st dr &
- -

w m=LA (B)

(C) r: = NI :ﬂ: (D)

[117

1072 tesla

1075 tesla

Elcctromagnetic moment of current carrying coil is

N -3
A m-NA

{B)

fartefaa d s AeRmme s & fom @@ & 2

I
C m-MA \Q@
g\
¥
Q
@$
C
N FAB
A
@ 55)

o o

AB

Which of the following is correct for galvanometer constant ?

«
NAR

() :’( %J

(A)

(B)

(D)

C(3)

NA

[B]

3003-(s9/60
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54.

SS.

e ——— o ——

[117 |
ER UHIEX &1 ufety g 2
Ay ST B I
(C) 100 A D) 50 &M

Resistance of ideal ammeter is

[A} infinity (B)

ZETO

(C) 100 ohm (D) SO0 ohm
TrEHIG FART B S.1. THF 21 &

(A) R B) d~
(C) Zem (D). [
S.I. unit of magnetic ﬂuxg&@

(A) weber ,§’ (B) watt

Q
N\ .

(C) tesla §§ (D)  joule
oI5t 1 o fras g & fagra &t afeom & 2
(A)  HXT B) Fam
€ FH (D)  EwW

Lenz's law is the result of which principle of conservation ?
(A) Current (B) Momentum

) Energy (D) Charge

B |- 13003-(59/60)
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56,

(A X, =2nfL (B)
X, =2nfL? (D)

Inductive reactance 1s

(A) X =20l (B)

© X, =2u1? (D)

57. T Gl Ft AL K FA

D
=1-7F (B)
(A) M 7 (
\ L
€ M=1-5 \\Q@ (D)
>
Magnifying pnwch\ imple microscope 18
§$ (B
...
(A) M 7
> 1% (D)
(C) M=1 5
s ddiEd @ el # efw A8
(A) P=P+F, (13)
-5 ")

117 |

X, =2nf%L

2,2

X, =2nf?L

X, =21f%L

X, =2nf%1?
D
M=1+=
f
M=]+—£
D
M=1+—=
/
1+ L
M=1+ 5
P=Px P,

P=P (B, + P)

—
R
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60,

G1.

e,

——

Power of two lenses in contact is
(A) P= Pl + Pg . (B)

N 'P
€ P== (D)

]
P:!

DG4 |.1H=3/2 AN K,=4/3d4 wj.tg I &

Ay 2 ()
. 9

() 3 (D)

If p.g-_-3j2 and p =4/3 then wpy is

(A) 2 (B)
9
(<) 3 (D)
o &6
(&) 20 ) (B)
N
© 48 O D)

Critical angle for glays is
(A) 207 {B}
(€) 48" (D)

fErRgeT-GereRpy &R B Wl giell @
(A), e ' (B)

€ (A) 3y 2 (D)

[ 117 ]

P=P] X PQ

P=P (P, + P)

(VT 1+ N )

e F> P S

30°

42¢ (AT

30°

42° { nearly )

Fpied
Feregeity

[ B |-3003-s9/60)

Page 25 of 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

62.

63.

Nature of electromagnetic waves is
(A) transverse

(C) both (A) and (B)

Brared % wed F1 s1aadiE o ¥

] sin(A+&_)

N YV
3in[A+25m]

€ w=—GnAT3

(B)

(D)

(B)

(D)

[ 117 ]
longitudinal

electrical

_ sinA/2
“sin(A+38,,)

sinA/2

- A+d
sin[ 5 "’]

The refractive index of material of the Prism is

sin(A+5,, )
A wE—graye O
§§~
O
ﬂsin[éé%——?’"}
€ K="FGna/2
TEHTETa qY & SET & §

(A) ST x 7Y & ST

() g Y oad

(B)

(D)

(B)

(D)

sinA/2

Hsin(A+5, )

sinA/2

W As
sin 2

_ ST
Y &) =T
9y ! o
YA

B |- | 3003-s#/s0)
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64.

Optical path is equal 10

(A) Refractive index « Length of path

Refractive index

B
(B) Length of path

(C)  Length of path

(D) Length of path
Refractive index
P 1 e e &

(A) 8-85):]0'12‘ F/m

(€C) 8-85x10'? F/m

The permittivity of free space is
(A)  8-85x107? F/m &

N
(C) 8-85x10'2 F/m’
B

N
65. ree-faya 1 SIS0 B e

ey,

L
B T rr————

(\ CN
(C) C

S.1. unit of clectric dipole is

(A) CN

< ¢

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

| 117}

8.85x107 L F/m

8.85x10'! F/m

8-85x107'! F/m

8.85x10'! F/m

Cm

g0

Cm

£
m
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n [117)
66. Foam Fram &1 Wiy w9 g ¥
> 99, - P k!
(A) F= 41:15 | —lr =y (B) F= 4115 q"l' ;
R O qrp
- - g
Q@ Fepl 9%; D Pl 02
< nE, r2 4n €, | -r' Iz
The vector form of Coulomb's law is  https:/www.bsebstudy.com
- -+ -
(A F= 4:15 ' q—l:h r (B) F= 4xle ) E-J?l
° qrp B (2
- -
© F=g 1 99 7 (D) Pl 99 7
;1 o G'D r2 4n EO r _; Iz
67. foar ae & uifear et ¢
Al C=q-v B c=L
(A) qv N (B) q
Q
g\\
C) C==2q-v RN} ) c=1
»® ’
The capacity of @ conductor is
(A) C=q-v ® C=z
[C] C= -%q.u (D) C=—S—
68. AN QTeTE # St Gl &
@ E=Lcv . ®  E=jov?
(C) E:-%CQV (D) E=cC.v
—rﬁ — | 3003-(s9/60) Page 28 of 32
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69.

70.

Energy of a charged conductor is
(A) E-—-—%C-V "B

© E-= %Cl v (D)

1y
Ezcv

E=C-V

[ 117 ]

afe JE Wit ¢, %F n WU Q=R w9 = 9 T 6t g7 wfven it

_n
(A) C= c (B)

) C=ncC (D)

C=nc,

If n capacitors of equal capacity C, are connected in parallel, the equivalent

capacity will be

_n

A C=g (B)
"~

() C=nC @’6 (D)

=

I & ferg o B &

(A)  3x10% vm! (B)

©  5x10% vm~! (D)

Dielectric strength for air is

Al 3x10° vm™! (B)

()  5x10® vm™' _“{Dl

CC]
" n

C=n?C,

4x10% vm ™!

10° Vm™!

4x10% ym -1

10% v -1

| B I— 3003-iss/s0) |
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[ 117

QYU - ¥ / SECTION - B
Y I AFT / Short Answer Type Questions
gy WS I#zoag'aaﬁwirﬁﬁﬁmyﬁ*mé‘am*ﬁvzw

Freifea 2 : - ' 10 x 2 =20
Question Nos. ] to 20 are Short Answer Type. Answer any 10 questions. Each question
carries 2 marks : 10 X 2 = 20
1. o R AT AN 2 | 2
Whalt is electromagnetic wave ? |
2, wREAI TH ®E ? 2
What is Lorentz force ? | .
3. Tawaord % < Swam = o 2
Write down two uses of potentiometer.
4. SRR & TR Y S S aaed | 2
Explain parallel greping of res..istors. _
& AT % HYAEE ¥ O AT W § ? ' 2
What do you mean by refractive index of medium ?
6. At @ i o) 2
Write the definition of wavefront.
7 & qmaaaﬁmﬂmﬁuﬁrﬁmwm%ﬁ? | | 2
What do you mcan by end-on-position of a magnet ?
g Tergdra fava @) qioam ferd | 2
Write the definition of electric potential.
_lﬂ ~13003-is9/60) Page 30 ;FE
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\rﬂﬂ

10.

12.

13.

19.

[117 ]
T (o) o & g ol 31 g 2
Write two properties of alpha (@) rays.
fgamurdt sis v @t e 2
Explain binary number system.
WY1 & av fagiaor w qosd | 2
Explain dispersion of light.
YT o fads / o @ qee € 2 2
What do you mean by diffraction of light ?
yiieta sfaar & wgmd | 2
Explain capacitive reactance.
At AR dien T % forg FEE WY & FeR Brg e 2
Write colour code of carbon resistance for orange and yellow colours.
TEHT T Y FRE | 2

. Explain magnetic moment.
T 0T I TR oy 2
Write the definition.of angle of dip.
DI TR F NS O S, W o | 2
Write down the definition and S.1. unit of magnetic flux.
NOT 81 OR i &I Jeerm TRt et e =ior fd 2
Write the truth table and Boolean expression of NOT and OR gate.
e WO 1 fagra w2 2
What is the principle of conservation of charge ?
SRR 2
What do you mean by apparent dip ?
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e iy ¥ / Long Answer Types Questions

mmz:#zae?a‘aaﬁamfﬁﬁm‘fswﬁtmf!m*ﬁv
5 3w Fulfia @ ; : 3x85=15
Question Nt‘)S,. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Eqch
question carries 5 marks -

3x5=r15_
21.

Wésﬁt@aiﬁuﬁﬁwawm@aﬂmwﬁl

)

Find out the expression for equivalent foca) length of two lenses in contact.

22, mﬁm&aﬁﬁa@m%wﬁﬁﬁ| 5
Establish expression for the width of the interference fringe

23, ZTTHETR @ e RT3 3w w5t e 5
Explain construction, working and uses of & transformer,

24. m%m%mmﬁwm%?ﬁqmmﬁah@-ﬁm
ToEE-59 @ a1 Fﬂag\ﬁ ? 5

. . Q
Establish cxpression Q‘,@‘ heal produced in a conductor due to flow of current.
What do you mcar%@ electric power and electric energy ?
\ .
25

hﬁa%%@%ﬁmwwm%mwmﬁ|

S
Establish expression for magnetic field at equatorial position of g magnet,
26. T & THT &1 ford 3T 3@ v &y 5
Write down Gauss's theorem and prove it.
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